CRITICAL THINKING EXERCISE
Which of the following does not belong?  Justify your answer (explain why you chose it).
A. large green square

B. large red circle

C. large green circle

D. small green circle

Take your time & think it through; while there may seem to be a quick, easy answer, there isn’t.

ANSWER:
A. is the only square (3 circles + 1 square)
B. is the only red (3 green + 1 red)
C. C has no unique element to it (A has the only square, B has the only red color, & D has the only small size)

D. is the only small one (3 large + 1 small)
http://www.parade.com/member/marilynvossavant/
Which came first, the chicken or the egg?
ANSWER:

· I’d say it’s the egg. Why? An animal (such as a chicken) is defined by the kind of creature it is, not by the kind of animal it gives birth to or by the kind of egg it lays. (A horse is a horse even if it gives birth to a mule.) 
· But an egg is defined by the kind of creature it contains. An egg holding a chicken is a “chicken egg,” no matter what laid it. The same with a robin. If a robin pops out of an egg, it’s a robin egg. 
· So if you believe in evolution, at some point a creature that was almost a chicken laid an egg that contained a chicken, and as an egg is defined by the kind of creature it contains, the egg came first.
---------------------------------------------------------------------------------------------------------------------

M&Ms PUZZLE:
· On the table there is a bowl of M&M's. 
· All but four are yellow. 
· All but four are red. 
· All but four are green. 
· How many M&M's are in the bowl?
ANSWER:

· Six -- two of each color.

---------------------------------------------------------------------------------------------------------------------

A great number trick. 
· A simple mathematical trick can enable you to discover any number a person thinks of - and find out his or her age as well. 
· Ask the person to pick a number of any size, 
· double it, 
· add 5, 
· and multiply the result by 50. 
· Next tell the person to add 1,758. 
· Then ask the person to subtract the year in which he or she was born. 
· The last two digits in the final answer will tell you the person's age on his or her birthday this year; the others will be the number first thought of. 
· (1,758 is the key number and changes every year; for 2,009 the number rises to 1,759 and so on for each subsequent year)
---------------------------------------------------------------------------------------------------------------------

TIN CUP Riddle:

· A man is driving down the road with his son and they get in a crash. 

· Two ambulances come and take the man and his son to different hospitals. 

· The son goes into the operating room & the doctor looks at him and says, “I can’t operate on this boy. He’s my son.”

· How is that possible?

ANSWER:

· The doctor is the son’s mother.

· The doctor is a woman & the doctor is the son’s mother.

· Feminists pose the riddle to reveal sexual stereotypes.

